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QUESTION 1

Which minimum system privilege allows you to create a trusted context? 

A. DBADM 

B. SECADM 

C. SYSCTRL 

D. ACCESSCTRL 

Correct Answer: B 

 

QUESTION 2

When specifying "A" for the acceptance option in the column SECURITY_IN in the SYSIBM.LUNAMES catalog table,
which statement is correct? 

A. An inbound ID is subject to translation. 

B. A request does not need an authentication token. 

C. With this option, VTAM cannot be defined with SECACPT=ALREADYV. 

D. For outbound requests, the encrypted password is extracted from RACF. 

Correct Answer: B 

 

QUESTION 3

For which table type could you specify ALTER TABLE tb1 DATA CAPTURE CHANGES? 

A. Catalog tables 

B. Directory tables 

C. Auxiliary tables 

D. Declared global temporary tables 

Correct Answer: A 

 

QUESTION 4

Which ALTER TABLE statement will generate a new table space version? 

A. ALTER TABLE ... ADD PARTITION ... 
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B. ALTER TABLE ... ADD COLUMN COL2 ... 

C. ALTER TABLE ... DATA CAPTURE CHANGES ... 

D. Altering an already existing VARCHAR column on the table to shorten its maximum length. 

Correct Answer: B 

 

QUESTION 5

What is the result of the command -RECOVER POSTPONED CANCEL if the postponed-abort thread that you cancel
was in the middle of a series of updates when DB2 abended? 

A. The underlying page sets are stopped. 

B. The underlying page sets are placed in REFP restrictive state. 

C. The underlying page sets are placed in REORP restrictive state. 

D. No restrictive state is set. It is your responsibility to ensure data consistency. 

Correct Answer: B 

 

QUESTION 6

Which statement is true about table check constraints? 

A. Only one constraint per column is allowed. 

B. The LOAD utility cannot enforce the constraint. 

C. A constraint placed on a table does not apply to a view defined on the table. 

D. A row meets the requirement of the constraint if the condition evaluates to true or unknown. 

Correct Answer: D 

 

QUESTION 7

Given that the following table (TB1) has been created with this statement: CREATE TABLE TB1 (COLA SMALLINT
NOT NULL WITH DEFAULT ,COLB CHAR(5) NOT NULL WITH DEFAULT) IN DB1.TS1; Which of the following
statements, which alter a table (TB1), will NOT invalidate all the plans, packages and dynamic cache statements
associated with the table TB1? 

A. ALTER TABLE TB1 AUDIT CHANGES; 

B. ALTER TABLE TB1 ADD COLUMN COLC DATE; 

C. ALTER TABLE TB1 RENAME COLUMN COLA TO COLC; 

D. ALTER TABLE TB1 ADD COLUMN COLC CHAR(8) NOT NULL WITH DEFAULT AS SECURITY LABEL; 
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Correct Answer: B 

 

QUESTION 8

The following SQL statement is issued: SELECT col1 FROM tb1 ORDER BY col1 ASC The following results are
received: 1111 AAAA Which statement is true? 

A. The encoding scheme of the table is EBCDIC. 

B. The encoding scheme of the table is UNICODE. 

C. This could never happen, this is an error and must be reported. 

D. This is expected behavior and independent of the encoding scheme. 

Correct Answer: B 

 

QUESTION 9

If security administration is separated from system and database administration, via zparm, which level of authority is
required to define roles or trusted contexts? 

A. SYSADM 

B. DBADM 

C. SECADM 

D. INSTALL SYSOPR 

Correct Answer: C 

 

QUESTION 10

A single table should allow for up to 100 Terabytes of application data. How do you design your table space? 

A. A segmented compressed table space, BUFFERPOOL BP0. 

B. A LOB table space with DSSIZE 64GB, BUFFERPOOL BP8K0. 

C. A table space with NUMPARTS 1024, DSSIZE 64G, BUFFERPOOL BP16K0. 

D. A table space with MAXPARTITIONS 2048, DSSIZE 64G, BUFFERPOOL BP32K. 

Correct Answer: D 

 

QUESTION 11

Which DB2 online utility job output provides you with information about the BACKUP SYSTEM history? 
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A. DSNJU003 

B. DSNJU004 

C. DIAGNOSE 

D. REPORT with RECOVERY option 

Correct Answer: D 

 

QUESTION 12

DB2 does not take system checkpoints in which circumstance? 

A. During an application rollback. 

B. At the end of a successful restart. 

C. When switching from one active log data set to another. 

D. When a specified number of log records are created or after a specified number of minutes, whichever occurs first. 

Correct Answer: A 

 

QUESTION 13

Poorly tuned memory can affect application performance, such as having sequential prefetch turned off. Which statistic
should you monitor from the statistics report to be sure this is not occurring? 

A. PREF.DISABLED-NO BUFFER 

B. PREF.DISABLED-NO READ ENG 

C. BUFF.UPDATES/PAGES WRITTEN 

D. PAGES WRITTEN PER WRITE I/O 

Correct Answer: A 

 

QUESTION 14

Which statement is NOT true? 

A. REORG table space to materialize pending definition changes for a table space. 

B. REORG with SHRLEVEL CHANGE would automatically detect which threads need to be canceled before switch
phase. 

C. DSNACCOX can be used for collecting data for table space and index space for getting recommendations when to
run REORG, RUNSTATS or COPY. 
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D. REORG of index space could be eliminated because the list prefetch of index leaf pages in DB2 V10 is based on non-
leaf page information. 

Correct Answer: B 

 

QUESTION 15

Which of the following tasks cannot be done via a single ALTER TABLE statement? 

A. Add a new partition to the table space. 

B. Change the VALIDPROC attribute of the table. 

C. Change a table check constraint on the table. 

D. Change the DATA CAPTURE attribute of the table. 

Correct Answer: C 
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